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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3922668521 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Homi Jehangir Bhabha worked in the field of
1. Indian Medicine
2. Nuclear Physics
3. Automobile Industry
4. Organic Chemistry
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3. e8S30n5 voEm
4.  =IF s

Options :
1. %1
2.9 2
3. % 3
4. % 4
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Display Question Number : Yes
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Find the incorrect statement

i,

LS ]

Operation Bandar is the Indian army attack on Terrorist
organisation.

Operation Dhosth 1s the rescue operation of India to
save Turkiyo and Syria earth quake victims.

Operation Ajay is to bring Indians safely to India from
Israel.

Operation Kaveri is to conserve Kaveri water from pollution.

RO TSR HB0W0G.

Options :
1. %1
2.% 2
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Question Number : 3 Question Id : 3922668523 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Identify the incorrect one from the following

53 200 TBS° H05°AO K0TS0,

1, Nuclear Protocol Treaty (NPT) - 1978

2, Comprehensive Nuclear Test Ban Treaty (CTBT)- 1996
3. Strategic Arms Reduction Treaty - I (START-I) - 1991
4, Limited Nuclear Test Ban Treaty (NTBT) - 1963

Options :
1.9 1
2.% 2
3.% 3
4. % 4

Question Number : 4 Question Id : 3922668524 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The *Golden Triangle’ of the Indian Constitution refers to

BT OR0S” womth (@2hm0’ &30 B “rDN0B.

1. Article 10. 12 & 14
2. Article 4, 7 & 10

3 Article 14,19 & 21
4. Article 20. 21 & 25

Options :
1. %1
2. % 2
3.3
4. % 4
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Correct Marks : 0.5 Wrong Marks : 0
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Choose correct answer regarding Freedom fight — years

1. Champaran Satyagraha a. 1930
il Non-Cooperation movement b. 1942
iii.  Civil Disobedience movement c. 1917
iv. Quit India movement d. 1920

DBO|S g Soeren, HOIST K $oWOR0D HETOT
DIrS0 H80Wok.

i SoF;ES veEgro a. 1930
. BS%6H :}mgdsﬁﬁﬁgmo b. 1942
i, Fﬁfg@‘@?&@ &03§3500 c. 1917
iv. 555 0&C5T &L550 d. 1920
I. & i-d dfic vy
2. ib ii-d iii-a  iv-e
3. i< ii-d ii-a  iv-b
4. i< ii-a iii-d iv-b

Options :

1. %1

2.% 2

3.3

4. % 4
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The longest sea beach in India

1. Colva beach. Goa

2. Ramakrishna beach. Visakhapatnam
Marina beach. Chennai

4, Juhu beach. Mumbai
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Options :

1. % 1

2.% )
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Display Question Number : Yes
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Identify the correct answer regarding Authors - Books

i. A.B. Vajpayee a. A Long Way
ii. Morarji Desai b. Nature Cure
iii. Pranab Mukharjee c. Four Decades i Parliament

1v. P.V. Narasimha Rao d. The Coalition Years

EJew - PU5ToH 3020800 J0ToS oAl Hdodok.

i AB. >Foo® a. D eroh 3
11. ﬁwo‘g 5200 b. 535 E:ﬁ;g
i, (Pead s0pf c. PFETTE) 38 FPJos

iv. .. 38007y d. 8 Fodhs 3abb)

I t-a 1-b  1i-d 1v-C
2. i-b  1-a ¢ 1v-d
3. 1-c  1-b 1i-d 1v-a
4. i-d 1-a  ii-b  1v-C

Options :

1. % 1

2. % 2

3.¥3

4. % 4
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Dr. C. Narayana Reddy has been awarded ‘Jnanpith Puraskar’

for his
1.
2

fsd

u D, oA BE B2 0TS i esggsﬁaei QU o

book
Mahaprasthanam
Viswambhara

Poola paatalu

4. Adhunikandhra Kavitvam
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4. e3800Y BD@S ﬁﬁe:e:s;ﬁm
Options :
1. % 1
2.¢2
3. % 3
4. % 4
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The first Education Minister of Independent India
E BD Jatty

2. Morarji Desai

3. Maulana Abul Kalam Azad

4, Mohammad Karim Chagla
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Options :
1. % 1
2.% 2
3.¥3
4. % 4
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Identify the correct answer

1.
ii.
iil.

v,

Chipko Movement
Silent Valley Movement
Bishnoi Movement

Narmada Bachavo Andolan

OB VIEEHo Mdotodk.
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4.

Options :

1. %1
2. %2
3.% 3
4.9 4
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1-c, 1i-d, iii-a, iv-b

1-a. 11-b, 111-d. 1v-c

1-a. 11-b. 111-c. 1v-d

1-d. 11-c. 11-b. 1v-a

d.
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Gujarat
Rajasthan
Kerala

Uttarakhand
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Choose correct answer

a. Flute
b. Veena
C. Mridangam
d. Violin
BB B
a. SEW
b. Head
¢ aiau)éjoﬁo
d 5300
1. a.b.d
2, b.d
3. g c.d
4. b.c.d
Options :
1. % 1
2. % 2
3.% 3
4.9 4

Bismillah Khan
Chttibabu
Ella Venkateswara Rao

Dwaram Venkataswanu Naidu
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“Jai Jawan, Jai Kisan, Jai Vigyan® slogan was given by
1. Lal Bahadur Sastry

2 Atal Bhihari Vajpayee

APJ Abdul Kalam

Narendra Modi
23, B A0S, B S’ T o) g)s S
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Options :
1. % 1
2.9 2
3.%8 3
4. % 4
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This film won the Oscar Best film Award 2025

1. The Brutalist

.4 Sean Baker

Anora

4. Mikey Madison
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Options :
1. % 1
2.% 2
3.3
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Identify the correct pair

Gene — William Wunt
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Options :
1. %1
2.¥2
3.% 3
4. % 4

First Aid — Esmarch

Leprosy Causing Bacteria - Leewen Hoek

Artificial Kidney — William Harvey
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Chief guest for the celebrations of 76™ Republic Day of India
is the

1. President of Nepal
2. President of Indonesia

President of Mauritius

fad

4. President of Japan
765 8995 OSSN IchHoH Sopy @SR TS T

1. S>rS GG

2.  30EIN oGP
3. SORR S
4. B> EL‘.‘S&L:J{‘.‘;J
Options :
1. % 1
2.9 2
3.% 3
4. % 4
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The annual meeting of the World Economic Forum in January
2025 was held in

1. Davos
2 Zurich
3. Bern

4. Lucerne

;565; JEFWE Do 0% D509 %0 2025 2:5:508°
3%),¢ 20nod

1. o35
3. 23’“555
3. a@

4. ey
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Options :
1.v¥1
2. % 2
3.% 3
4. % 4
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The 46™ President of the USA is

1.
2.
3.

4.

Donald Trump
Joe Biden

Bill Clinton
Barak Obama

USA % 463 ecﬁ&ﬁ_}:ﬁﬁa

:
2.

3.

4.
Options :
1. % 1
2.9 2
3.%8 3
4. % 4
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Question Number : 18 Question Id : 3922668538 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The country that does NOT share boundaries with India is

1. Maldives

2. Pakistan
3. Afghanistan
4. Nepal
PSSR FOS" o RO 8 B¥0
1. oasug@eu
2. >SS
&
3. E?&@;g
4. I>S
Options :
1.¥ 1
2. % 2
3.% 3
4. % 4
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One of the following 1s NOT a recipient of Padma Bhushan
Award-2025

I, Dr D Nageswara Reddy

2. Nandamuri Balakrishna
Nalli Kuppu Swami Chetti

4. Sadhvi Ritambhara

53 308 88" 2025 %550S” (PEBOAT D&Y ArRS
DETYE P AT

)
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3. 552@, %ﬁj@‘sﬁo 5@
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Options :

1.1

2.% 2
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4. % 4
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‘Mana Mitra’ initiative by Andhra Pradesh government aims to

enhance

1. Governance through whatsapp
2 Education in schools

3 Child and women protection

4, Road ways
DI DI’ & DHS® eo(GHBT (P00 Browy) S
A S)HB H8ToHH &BBosniod.
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Options :

1.¥ 1

2. % 2

3.%3

4. % 4

Section 2

Section Id : 392266267
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266267
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3922668541 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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RTE — 2009 Act abolished

1. Three language formula

2. Mother tongue as medium of instructions
3 Capitation fee

4. Establishment of new schools

oG] 3540 - 2009 BID B&y 308
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Options :
1. % 1
R )
3.9 3
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As per Right to Information Act — 2005, application seeking
information should be settled within

1. 6 months
2. 3 months
3 2 months
4. 1 month

QIrTE T ©5630 - 2005 (D5°80, BT B0 BeVDIOVS
SBP B SoSHRS T H0, 8070

i I 6 JSoen
2. 3 Soew
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Options :
1. % 1
2. % 2
3.%3
4.9 4
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Choose correct answer regarding the approaches to teach
Mathematics proposed by NEP — 2020. NCFFES - 2022

a. Concrete Experiences Model - Experience. Spoken
language. pictures,
written symbols

b. Four Block Model - Oral math talk. Skill
teaching. Skill practice,
Math game

NEP - 2020. NCFFS - 2022 (3828005 redes 5G5S
§Ee 1000 WPS DArEPN0 Kook,

a. 2070 DT DT - @00, 3 PE 2,
Do, T HoSEen

b. TN REI® S0 - S39E Kedeso, SDE
5°e53, :@@Eﬁ§ eaﬁgﬁm.
Kedes (S&en
| a - correct
2. b - correct
3. a. b - correct
4. a. b - incorrect
Options :
1. % 1
2. %)
3.¢3
4, % 4
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Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Vidyanjali scheme was introduced by

i;
2,
3.

4.

NITT Aoyog
Ministry of Education
Ministry of Skill Development and Entrepreneurship

Ministry of Women and Child Development
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Options :
1. %1
2.9 2
3. % 3
4. % 4
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The objectives of Rashtreeya Avishkar Abhiyan

1)

i)
1i1)
V)

Meant for the age group of 6-18 years children
Aims to motivate children in Mathematics, Science and
Technology through experimentation

To implement this programme through RMSA
To implement Laboratory based assessment

T@dﬁa &3532%_5 0 ErS $§?5w

1)

i)

1i1)

V)

1.
2.

i

4

Options :
1. % 1
2.% 2
3.%8 3
4. 4
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i dil

1. 11

11, 11

1. 11, 111

Question Number : 26 Question Id : 3922668546 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The State shall not discriminate on the grounds of religion.
race, caste, sex or place of birth as per the following article of
the Indian Constitution.

1. Article 15
2 Article 17
3. Article 18
4. Article 19

DS, 2, HeKw, DoNEw, HEI (IB¥0 eErvorT ooeEgo
DY WrHoE VDOV LS Trengon ©RESE

L 155 20583
2, 175 e9QE8ed
3. 185 e2®5S5es
4. 195 Q583

Options :
1.1
2.% 2
3. % 3
4. % 4
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This theory is the support for the NCF — 2005 and framing of
Environmental Studies curriculum

1. Existentialism

2 Social Constructivism
3 Cognitivism

4, Behaviorism

AR.2.29. - 2005 580 DogHLE FY FEYDeTVY S5l
B8 DTOS0 SISO

[ SRtECyale
2 oY K}Gﬂ*&méﬁ éﬁmﬁ.‘io
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4. DI &0
Options :
1. %1
2.2
3.% 3
4. % 4
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“We must at present do our best to form a new class of people
with Indian blood and colour, but English in taste, opinions,
morals and intellect is the objective of English Education™ is

said by

1. Charles Grant
= Hartag

¥ Elphinstone

4. Macaulay

“BEOS", SE0S" rEBANG 08 WHPHHT, ¥ eSS,
8588, e)S° soRdver &0% 5 STR) W)BSE0
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1. oBR (oS

)
2 SSTh
3. ORI
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Options :
1. % 1
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4. 4
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The celebration that 1s performed at the beginning of students
learning in Buddist Education System 1s

1. Pabbaja

2 Upasampada

3 Upanayana

4. Parivrajaka

T°E oy TS ATgY oegarsd (80 ¥cHos”
207 &8)S0
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2. G008

3. G000

4. HOFw

Options :
1.¥ 1
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Choose the correct answer regarding ‘Code of Professional

Conduct of teacher’

a.

b.

£

d.

EFTICINO SPBITT AcHIFIP'E 02080 ¥BS

1984 — UNESCO guidelines

1977 — NCERT guidelines

1985 — Chattopadhyaya Commission
1985 — SIET — guidelines

VIS0 KoboBosk.

a.

1984 - UNESCO Qdcdsoe=@

b. 1977 - NCERT Qcars®
C. 1985 - $E° T KRS
d. 1985 - SIET dckoea«?
1. a.d
2. b.d
3 a.b
4. c.d
Options :
1. % 1
2. %2
3.3
4. % 4
Section 3
Section Id : 392266268
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Section type : Online
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Number of Questions : 10
Number of Questions to be attempted : 10
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The tests that assess the personality of a person by eliciting
responses to meaningless stimuli are

1. Rating Scales

2. Projective tests
2 Questionnaires
4, [nventories

o - “Cnd SRk
e:tﬁtﬁm@ e&w@ ¥y Daeoraren D'“E.J%GD D;SD"‘ 055:5 r:u:oﬂb_
MQMJ@'SQ) BOUT D0 ‘oﬁf}é"m

1. e AR
2. (S50% w0jen

3. BE)swe
4, $OXen

Options :
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2.2
3.% 3
4. % 4
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According to Ericson. the first psychosocial conflict faced by a
child is

L. Atonomy Vs Shame
2. Trust Vs Mistrust

3. Intimacy Vs Isolation
4. Initiative Vs Guilt
ABERS (PSE0 B TS IS S0 35 DO

2

1. A0 (@EDE Vs i

2 a0 80 Vs esdasaid¥o
3. %ﬂﬁg}i}ﬁ@go Vs Dsrodto
4. w00 VS 830000

Options :

1. % 1

2.9

3.% 3

4. % 4
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The correct order with respect to the process of memory is

1.
75

b

4.

Retention, Encoding. Retrieval
Retrieval, Encoding. Retention
Encoding. Retention. Retrieval

Retention. Retrieval, Encoding

K}@@ @’a@cﬁoé D008 IV |FDo

e

2
3.
4

Options :
1. %1
2. %2
3.¥3
4. % 4
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A boy wants to play with a cat. but he is scared that it may
bite. The conflict in him 1s

L Approach-Approach
2. Approach-Avoidance

Avoidance-Avoidance

b

4. Double approach-Avoidance

2, ¥ Eaﬂaﬁa:’o i"a{é_}_ff @@ﬁm@mﬁom@cﬁ;. =5 %

0030 e;ﬁch:ﬁﬁeeﬁasgm & S0Y), VO
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A boy developed a fear of the doctor, when an injection was
given by him. From that day onwards he is scared of not only
that doctor but also all other doctors. This is

L.
2.
3

4.

Higher order conditioning
Operant conditioning
Stimulus Generalization

Stimulus discrimination

2.5 2reodd 6 0BES Talgwo TN TEY0E o
DEYEOD. SB)B F00& VS & YD THOF 388 TS
SO EoSOTYE. 3D

1.

oW

Options :

1. % 1
2. %2
3.¥3
4. % 4
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According to Spearman, the following factor 1s common in all
intellectual activities of mdividuals

1. Special factor
2 General factor
3 Environmental factor

4. Spatial factor
DGR (PB0 558 T @) (PLHES KyErged”

L

&0G SPSEO
L (95§ smuEo
P %ﬂ;ﬁrﬁg EEO
3. slarsTelR=slot=lo)
4. | P08 s°8%o

Options :
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Identify correct order of steps in learning by imitation

a. Performance
b. Attention

C. Remforcement
d. Retention

©EVE LOT0S" FIrTo SWHHED0 KHYoS0E.
a. isglaty
b. NI pTe)

C. @56@)&:50

d. fovitelar
i bhcd:3
2. b.d.a.c
3. a.d.b.c
4, c.b.a.d

Options :

1. % |

2.2

3. % 3

4, % 4

Question Number : 38 Question Id : 3922668558 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

A boy 1s good at Mathematics. Now. he wants to learn
Economics Here. the type of learning transfer is

1. Positive
2. Negative
3. Zero

4. Bilateral
2. @erjon Ke3d0 e DD, FAPESD 58
Tﬁd}JEBE:S@ﬁ“EiJ. 3E)& 925;5‘{35 2&eran0wy) S50

1. Gaed &EO
2. mrﬁﬂeﬁéﬁo
3 -‘a’m‘&go
4, aﬁﬁb'ﬁ%
Options :
1.v 1
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Choose correct answer regarding intelligence tests

d.

PR

12

%
1

4.

Options :

1% 1
2. %2
3. %3
4.9 4

Binet — Simon Intelligence test : Individual. power.

verbal test

Army Alpha Test : Group. Verbal, Speed test

Army Beta Test : Group. Speed. Non-verbal test
Draw a person Test : Individual, Non-verbal. Speed

test

¢ 2 3
&38& A E:J&" P STy, A, &aa‘gﬁ ‘cﬁﬁg

(& D SV 9B : 53N, eeds, K 0¥
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a.c.d
a. d
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The following Law of Learning is NOT proposed by

Thorndike

1. Law of Effect

2. Law of Readiness
3. Law of Closure
4, Law of Exercise

53 308 FAS° FYEE (HSIDODT eHS Ao A8

i 2 »8d Jdbo

2. ﬁoé’bg}:@ NA50x00
3. 9rSe 659500
4. EE*EJ"S:@ QD A000
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A car travels 440 km in 5 Y5 hours. The time required to cover
30km with the same speed is (in minutes)

2% o0 5 Y2 Kowes® 440 82 &80 (HcsredoisKesh.
0 K0S 30.8.2b (HArIoNEIS B ¥HAHo AVred’)
1 17 ¥> min

2 22 Y5> min

27 Y2 min

4. 18 “5min

fsd

Options :
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If 15% of 150 +x % of 250 = 42.5% of 200 then the value of x
15

150 8° 15% + 250 &° x % =200 §° 42.5% es00@ X Jens

1 15
2. 20
3 23
4. 30

Options :

1. % 1

2. %

3.3

4. % 4
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The amount that 1s to be repaid on a loan of 12000 for 1 '~
years at 10% per annum compounded half yearly is (in rupees)

esty ‘ﬁo;:i@“}csﬂbé o, KB SE K3y Bi5hS T 12000 &9?&9}3‘;’3 :-f;o:jo%mi}ﬁ
@ [ o [
10% 5& Benst 1 Vs BSOS\ S$TRS BOSIODS IS0
o [ ] —

(SrraHed?)
1. 13800
2. 13891.5
3. 13991.5
4. 13981.5

Options :

1. %1

2.9 2

3.% 3

4. % 4
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A man bought a toy for ¥ 8000 and sold for a profit of 8% He
bought another toy for ¥ 10000 and sold for 10% loss. On the
whole he got

i,
2.
3.

4.

294 loss
2% gain
3% loss

3% gain

2.8 ;521:,_% 2.8 38 5095 T8000%H 8§ 8% everds €910 ).

e8¢ HFY es3PH T 10000 H £°2 10% éigi]% @33@’?63.

0¢850 oéS e9esDS

[
2,
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Options :
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3.% 3
4. % 4
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The market price of a table was ¥ 12800. The shopkeeper
offered a discount of 20%. After this discount, on the selling
price, on bargaining shopkeeper agreed to give some more
discount and sold to ¥ 8704. The second discount offered by
the shopkeeper is

2.¥ 80 (HELS o T 12800. tHhsees ot 20% Hoiosn
T, Be 20% 0w AT SD)S )50 S5 S0 eatEXme
20087068 Sotoan E;E}Lj T8704 % &93_':@';‘&3. Eo5eey TPHED BOESID
qﬁbxicbmaﬁn 50

1. 10%
2. 15%
3, 12%
4. 19%
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‘A’ alone can finish a work in 4 days ‘B’ takes double the tume
as taken by A and ‘C’ takes equal days ‘B’ to finish the same
work individually. If all the three work together then the time
taken to finish the work (in days)

2,5 DD ‘A’ 283 4 Srod Jroddbiv. ‘B’ &G D)
YrBBAHEIS < A” 8 D& BHATIS BOGOSn BRAHO
DS, <O’ 28 G & DI Y VDD B’ 3 HE Do
HRHOETE. A B C 00 So0K8r 502 3T & DI Irf
DaHErdd B8 B30 (ered’)

1. 3
2, 1
3 2
4, ]
Options :
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3.3
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Identify the statement which 1s ‘NOT" true

1. 15km : 5m = 50 hours : 1 nunute
il 2% Iiter: 10 ml='2kg: 1g

1il. lsec: 10min="%cm: 15m

1. only (1)

4 only (i1)

3. (11), (111)

4. (1). (111)

1208 IS’ $858
1. 15 8.2 : 5 2o = 50 Koeren : 1 dWHRE
.  2%00%:10pdH=128 1
o3
L. 1% 110 dddren = Y4 0.0 1 15 ety

1L () oresd
2 (11) Soe{es3d
3. (i), (iii)
4. (1). (111)

Options :

1. %1
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3.3
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10 billion =
1. 10 crore
. 100 crore
3. 1000 million
4. 10000 nullion
10 DASHE =
{ ¥ 10 gﬁéﬁ
2. 100 §‘3¢1%
3. 1000 20aH&
4. 10000 OEHS
Options :
1. %1
2. % )
3.%3
4.9 4
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If HCF (300. 550) = a+b and LCM (12. 18) = a-b thena’ — b’

HCF (300. 550) = a+b 558055 LCM (12. 18) = a-b evans5 a™—b" =

1. 1800
2. 1080
3. 360
4. 300

Options :

1.1

2. % 2

3.%3

4. % 4
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Correct Marks : 0.5 Wrong Marks : 0

If log, (x* —10)—log,x = 2 log, 3then ‘x’is
log (x> —10)—logx =2 log, 3 eons ‘x'=
1 10
2. -1
5

4. 2

fad
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Ascending order of the following is
2088 e8%5S |5508° orahar,

A (31 =[(=30) +(-1)]

B [(=60)+50] = [(-20) + 21]
i [(=36)+12] =3
1. A, B. C
2. A, . B
3. B. e, A
4. B. A, 5

Options :

1. %1

2. % 2

3.3

4. % 4
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The unit digit in 101°+102°+103°+104°+105°+106°+107 is

101°+102°+103°+104°+105°+106°+107°
E0E) &gﬂr%% i);éoé?ﬁi} es0s

1
2

(b

4,
Options :
1.v1
2.% 2
3.%3
4. % 4
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5 % 531’?1'—1,' 'z :'}2 % 53?‘1—1 _

8%53?‘]—5[‘]53 J”

-2 =

L)

4

Options :
1. % 1
2.% 2
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If x=3+2+/2 then x -

1 6
2 4
3. 2
4. 1

Options :

1. %1

2. %2

3.3

4. % 4
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A 15 a set of odd prime numbers below 20 then the number of
subsets of A 1s

A 38 20 57y S$K) IS 23D DS BoPpge B A % oedHEsK>
Graeioe ‘JJDE,&J;S

1. 32
2 64
3 128
4. 256

Options :

1. %1

2.% 2

3.¥3
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A man sees the top of a tower in a mirror which is at a distance
45.6m from the foot of the tower. The mirror 1s on the ground
facing upwards. The man 1s 0.5 m away from the mirror and
his height 1s 1.5m then the tower of height 1s

1. 67.65m
2. 136.8m
3. 140m

4, 152.6m

2.8 K8 eSS0 508 45.6 ey $rE508° &0DS efsnd”

2.5 3558 AP0 BpUsn . efsmn Jop &IOS S0SnsSs
$r0050 &5 58 N 5008 0.5 ey KrEsnd” S, ©Ed 06
S 2 5008 15 ey IHS” X)) e Kpssn I

i 67.65
2 136.8 2
3. 140 2o
4, 152.6

Options :

1. %1

2.9 2

3.% 3

4. % 4
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If two tangents ‘AP’ and ‘AQ’ are drawn to a circle with
center ‘O’ from an external point “A°. ZPAQ = 70° then
Z0PQ+ Z0QP is

‘0’ Soigon Ko $)Tm08 2oy A $:06 Dot B)8) Dpen
AP 3800 AQ ﬁd’na}c?ﬁan. ZPAQ = 70° esc@

Z0PQ + Z0QP denss

1 70°
2. 55°
3. 45°
4, 35°

Options :

1.v1

2.% 2

3.%3

4. % 4
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Which one of the following Euclid definitions is FALSE

1.

fad

A line 1s a breadth less length

A surface is that which has length. breadth and
thickness

The edges of a surface are lines

A plane surface is a surface which lies evenly with the
straight lines on itself.

B0BTDS” oIS i DHIS0

|
2.
3
4.

Options :

1. %1
2.2
3.%3
4.% 4

D e50E& Jeten) B0 XS
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2.5 HBese0 e90ES ) Sen BX0E PDEEDPeS:
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Lines PQ and RS intersect each other at point “O’
If /POR : ZROQ = 5:7 then the measures of all four angles are
PQ 38di» RS H5¢8pen Doty ‘O 3¢ podoiHHranow.

ZPOR : ZROQ =5:7 wond o) §'ere Soder S5

ad D =

oot

Options :

5%, 1259, 557, 1257
60°, 120°, 60°, 120°
80°, 100°, 80°, 100°
T8°, 105%;7715°,/1405°


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

1. %1
2. % 2
3.% 3
4.9 4
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The complementary angle of ~£4 is eight times to 4. Then
the difference of supplementary and complementary angles of
LA 18

L4 @Y rE8ennn 4 S5 D el 0SS LA @Do¥)
HOWrSE, Yro¥ Sfere SgEEH0

L. 250°
i 72
3. 90°
4. 80°

Options :

1. % 1

2.% 2

3.¥3

4. % 4
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In a thombus ABCD. AB=BD then /BAD : £ ADC is
ABCD oro258° AB=BD sond /BAD: £ADC

L. 152
2. 24
3 332
4. 2.3
Options :
1.v1
2.% 2
3.%3

4.% 4
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In the following quadrilaterals which is NOT always cyclic

1. Square
2. Rectangle
3. Isosceles Trapezium
4. Parallelogram
8085 33(ES SebsEred’ Jowpdr 3o A8
1 IS0
2 DY S5eH8(S
3 5’3;53&335“;’5@ D02 ﬁpﬁ:c‘.‘i:geso
4. S leTTe] ﬂﬁo‘!a:ltﬁ:;jfao
Options :
1% 1
2. % 2
3. % 3
4.9 4

Question Number : 63 Question Id : 3922668583 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The number of vertices of a solid which has 40 faces and 62

edges 1s
40 Seren 300651 62 ©oiHen Ko WIFY SWHH Ko %c:i@ 0zs
1. 20
2 24
3. 102
4. 22

Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 64 Question Id : 3922668584 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Three metal cubes with edges 15cm. 12cm and 9cm respectively
are melted together and formed into a cube. then the length of its

diagonal in cm
15 0.5, 12 0.5 805 9 0.5 fhavenne Ko $Hth Sy

SIS EBROD 2.8 IS0 8D, DBYES oS50 @0l
K FE 20.2.08°

1. 2842

2. 1843

3. 1842

4. 2843

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 65 Question Id : 3922668585 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A cylinder, cone and a hemi sphere are of the some base radius

and same height. Then ratio of their total surface areas
2.5 B0, 2.5 ooy O @gﬁﬁﬁc 2.8 Jo%), 28 505 SOA

G30THOD. ©S00SS’ 576 Bk SoyrEse Jrergo JAG

1. 4:45+1:3
2. 4:+1:3
3. 4:4f5+1:2
4. 4:2+1:4
Options :
1. % 1
2.9 )
3. % 3
4. % 4

Question Number : 66 Question Id : 3922668586 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The radius of a wheel i1s 22.4 cm then the distance covered in
meters by the wheel after making 500 revolutions is
22.4 20.5 J“E\‘,i?’g[) EORS S50 500 (Foemen B1S (HATEI0H

5750 ey’
L. 70400
2 80800
3, 808
4. 704

Options :

1. % 1

2. % 2

3.%3

4.9 4

Question Number : 67 Question Id : 3922668587 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The volume of a sphere of radius 2.1 cm in cm’
2.10.2> JrE0 KRS A'¢0 @) IIBIE0 0. o’

1
2.

(b

4

Options :

1.v1
2. % 2
3.% 3
4. % 4

38.808
37.808
36.808
35.808

Question Number : 68 Question Id : 3922668588 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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In a AABC, D.E and F are mid-points of sides AB. BC and CA
respectively. If area of ADEF is 6.25 cm’ then area of
trapezium ABEF in cm’

AABC &° D, E 58050 F en S0 AB. BC %8050 CA

Sare gy DochHIev. ADEF T30 6.25 350,20 90233
B>200 ABEF 3750 $30.0 o8

1. 12.5
2; 18.75
3. 25

4 13.5
Options :
1. %1
2.2
3.% 3
4. % 4

Question Number : 69 Question Id : 3922668589 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Volume and total surface area of hemisphere are numerically
equal. then its diameter in centimeters

2.5 oSF V0 @Y HIIBITE0 HBAD VoYY Bo JFTeg0 Vo
DBOMP DITS0 GO TR FHH0 0. o

1 4.5
2. 6
2 9
4, 12
Options :
1. %1
2.% 2
3.¢¥3

4.% 4
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Question Number : 70 Question Id : 3922668590 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Four equal circles are arranged in a plane such that each circle
touches other two. If the empty region enclosed by the four
circles is 42 cm’. then the fotal circumference of the four
circles 1s (1n centimeters)

D= m§bngo Ko SrenlH Jyzren 2,568 508 BoG0ED D))BoHSen
2.5 008" &0SES. 3 ey BYES 0 (DY JFeso

42 $320.2 Lo & Tk ST $HepSled (0.1 of')

1. 188
2 186
z § 176
4. 166

Options :

1. %1

2. % 2

3.3

4. % 4

Question Number : 71 Question Id : 3922668591 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A regular hexagon inscribed in a circle whose radius is
14.49 cm then difference of their perimeters in centimeters

2.8 (XD :a.cﬁsz)ﬁ 14.49 0.2 mgiﬁngo He ;‘5&%@& @0@%&0{53}&0&.
L0 ¢ iﬁ}%g"wéméﬁ Bz 0.5 od®

1 4.44
2. 4.34
3 4.24
4. 414

Options :

1.% 1

2.% 2

3.%3
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4.¥ 4

Question Number : 72 Question Id : 3922668592 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

ABCD i1s a quadrilateral in which AB = BC and CD = AD then
number of lines symmetry of it

ABCD e 2.5 ﬁvﬁa&}aaﬂoeﬁﬁ AB = BC 58d50 CD = AD eons
°) i?’%.b e DOPS

1 0
2.

3

4.

sy P =

Options :
1. % 1
2.92
3.%3
4. % 4

Question Number : 73 Question Id : 3922668593 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Match the following polynomials with their zeroes
308 TvHEHOS 3¢ %PFSE}@E 3¢S 084

A)
B)
C)
D)

[

b

4

Options :
1. % 1
2.92
3.%3
4. % 4

5x-15

¥ +2x—8

37— +x—3

4 +2x7+3x+5
A B C
11 111 Ay
v 111 11
v 11 11

Y iii 1

|
i) 1

(i) 2

(1v)
D

i

(8]

i

GET IT ON
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Question Number : 74 Question Id : 3922668594 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The quotient and remainder when a polynomial

3x’—x"—3x+5 is divided by x—1—" are

IV 3x+5 % r—1-" B srRoST 352) K oS

3
B FASwen
1 =3 4
2 x-3, 3
3 =2 j
4 x-2, 3
Options :
1. % 1
2. % 2

3.% 3
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4.¥ 4

Question Number : 75 Question Id : 3922668595 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If sum of 5 consecutive multiples of 8 1s 840 then the smallest
number among them is

8 By 5 500 Hoedzre Ingo 840 sonsS FES” 8 DY) KHedzo

i 152
2. 159
g 2 168
4. 176

Options :

1.v1

2.% 2

3.% 3

4. % 4

Question Number : 76 Question Id : 3922668596 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If 3x—5y+8=0and 1.5 x + ky— 11 = 0 represents
parallel lines then k=
3x5y+8=0805» 15x+ky—11=0 en Boto

B370e88 Do doedin k=

T -
2
5 g
2
§ 51
s
A g
2

Options :
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1% 1
2. %2
3. %3
4.9 4

Question Number : 77 Question Id : 3922668597 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1
If a, # are zeros of 3x"— 5x —2 then — + o
o p
? 1 1
3x"— 5x —2 @Y, TIged @, f sond — +— =
a B
1. 71
4
3, gt
4
3, G-
4
4. 101
4
Options :
1. % ]
2. % 2
3.3
4. % 4

Question Number : 78 Question Id : 3922668598 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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1 3 1
it %=s=7 then x~ ~

: 1
.T—l s S —i%,
X i
1. 322
2. 343
3 350
4, 364
Options :
1. % 1
2.% 2
3.% 3
4. 4

Question Number : 79 Question Id : 3922668599 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

| 1
One of the roots of — - =3, ¥=2\02
% x—2
| 1
— - =3, ¥ # 0,2 escns 2.8 o700
% x—2
3-42
i
2
3-42
2.
3
3-3
3.
3
§af3
4.
&
Options :

1. %1
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2. %2
3.3
4, % 4

Question Number : 80 Question Id : 3922668600 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

s |
Which term of the progression 1, —,—,—,....... is
3 9 27 19683
L1 ] |
— = e @3S —— D) B850
3 9 27 19683
L. 9
2. 10
3 11
+ 12
Options :
1% 1
2.¥2
3. %3
4.% 4

Question Number : 81 Question Id : 3922668601 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If ™D ps:"ps=3:2thenn=

@ Dps 1 ps =3 : 2 eSS N =
1. 10
2 12
3 14
4. 16
Options :
L%

2. % 2
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3.¢°3
4. % 4

Question Number : 82 Question Id : 3922668602 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If f:R—>R. g:R — R are defined by f (x) = 4x -1 and

y @]
g(x) =x"+ 2 then (gof) =

4

fR—>R g RD>RosHf)=4x-l.g(¥)=xX+2

a+1
:thsf;@ (gof) =
4
1 a’+2
2 g—3
a+1
3. &9
2
2
a—+1
4. 7
2
Options :
1.1
2.% 2
3.% 3
4. % 4

Question Number : 83 Question Id : 3922668603 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The sum of co-factors the elements 2. -5 in the matrix Ll i ) J

-4 -5 3
(i s
tl 2 -2 J;ﬁr@c}gﬁs Srestey 2, -5 o 35 Kerschare So0d80
-4 -5 3
1. 14
2 17
3. 20
4, 23
Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 84 Question Id : 3922668604 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The mean of 8 observations 1s 43. By mistake one observation
1s taken as 12 instead of -12. Then correct mean 1s

8 ¥BBeryarodsne BXen 43. FEIrenS ¥ B8%esmodo -12 %
aatHennt 12 HEd S0, eond DBGS DKew

i, 46
3. 40
3 43
4, 42

Options :

1. %1

2.9 2

3.%3

4. % 4
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Question Number : 85 Question Id : 3922668605 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The class mntervals are 1-5. 6-10. 11-15. 16-20.... Then the
upper boundary of 11-15 1s

1-5. 6-10. 11-15. 16-20.... S5K& es0e807en e9030:

11-15 SEKS @y DD T

i;
2,

[N ]

4

Options :
1.¥1
2.% 2
3.% 3
4. % 4

15.5
15

14.5
10.5

Question Number : 86 Question Id : 3922668606 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following have same mean. median and mode
305 33283 IS 2.8 HXew, 055 K50 5050 TS

KORSE

1
2.

Lad

4.

Options :
1. % 1
2.% 2
3.% 3
4. 4

-2

g =
LN

s
!u 5‘”

i o1 9 e

fad

fad

P9 b=

6
.8.1.4
4

-2

4.2
4.2

, 7.4
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Question Number : 87 Question Id : 3922668607 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A part with 30% of the total value will have an angle in the pie
chart 1s

558 DS0S” 2.8 2K0 30% ©00S T DT §%00

1 108°
2 727
3. 1440
4. 126°

Options :

1.¥ 1

2.% 2

3.%3

4. % 4

Question Number : 88 Question Id : 3922668608 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Which
(a)

(b)

(c)

Fu b D

7 GET IT ON
Google Play

of the statements is TRUE?

In a histogram each area of rectangular bar is
proportional to frequency in the respective class
internal

Histogram is a graph of continuous frequency
distribution

If the first class interval is started from value and not
zero. kink will be marked on x-axis in the graph

a only

b only

a and b only
a.bandc

808 FVS° Bfg (D350 2B?

(a)

)

L B

4

Options :
1. % 1
2.% 2
3.% 3
4.9 4

52>y Berdos” (98 Y Koy FFog0 & SEK
2007 FPSYPIEOH 2958 e rs08° &08008.

£ 83 D0 B0SE PS:HIg S8Ter @Yy (D
935808

(e ﬁé@‘%}aez} X-09%03 Inesed Dens }’JJ@@?
|TE00sESFE §085> KrBTSm.

a S|

b o6

a 58ao b s

a. b Shsasw ¢

Question Number : 89 Question Id : 3922668609 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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If standard deviation of data 1s 6.66 then variance is
@‘;ij“ﬁg 238330 6.66 =205 ijc_‘ﬁg@ e

1. 13.2356
2 13.3256
i 43.4656
4, 44.3556

Options :

1. %1

2.% 2

3.%3

4.9 4

Question Number : 90 Question Id : 3922668610 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Two dice ‘A’ and ‘B’ are thrown together. The probability that
the number obtained on dice A is a multiple of number
obtained dice ‘B’ 1s

‘A’358050 ‘B’ 80 rO¥ess 2B8 083, A% ‘BS
SFOBS 0P g A &% B0p§ 10320 SPSEIS BORSgE

1
1. =
3
7
2 —
18
5
3. —
18
15
§ o
36
Options :
1. %1
2.9 2
3.%3

4. % 4
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Question Number : 91 Question Id : 3922668611 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A circle 1s drawn with radius 7 cm on a rectangular paper of
length 30 cm and breath 20 cm. Now an object is thrown on
paper. Find the probability of object that lands outside of the
circle on the paper.

30 20.20 &Y BN 20 0.2 Isew) Ko BY SHBFTE
S*ReS0D 7 0.2 80 Ko %o AdHexéod. SPAS0D 2.8 S
228 IHaad08. PRG0S’ SYZS 2dher JDS S SIS
ﬁoz.:ﬂ;‘jéaﬁ EDATS06.

£
1. —
300
)
2. —
150
223
3 —
150
223
4.
300
Options :
1. %1
2.% 2
3.%3
4. 4

Question Number : 92 Question Id : 3922668612 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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From a single deck of shuffled cards, all odd number cards are
removed. Then which of the following is FALSE?

|
E: Probability of getting red face card is —

6
es : iz ok
2. Probability of getting ace card is —
9
o : o]
3. Probability of getting black king 1s —
36
- . 1
4. Probability of getting jack card —
9

230 Kenyhendis f:ré:’:izozfarﬂ ¥e3:5004 3335031}5 SOAS s°hen
FoRoSDZTD. Bond 308 F&E° VS I6?

1
1, Y Iy 578 FosEIS DOZTIgS —
6
. 1
2. DR FOLTE 00gIS55 —
“ 9
1
3. Sevyy Oz S FOSEIS HOFPIE —
R ° 36

1
4. ool ST FOSTAS HDOLTSES —

9

Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 93 Question Id : 3922668613 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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If E; and E, are mutually exclusive events, then E; ~ E, is

. 1 3

2. Probability of impossible event

3 probability of sure event
4. El'u' Ej
E; S08d5w Exen DED)Y SHH eSen e EinE,

1 i %
= E;Biﬁ“{.".ﬁg &S B }:‘Jr::naj‘*;ﬁéoﬁ

fad

?3'31}"5 PASTA T {ﬂn§b ﬁam;:iée:ﬂ
4. Eiv E;

Options :
1.v' 1
2. %2
3.%3
4. % 4

Question Number : 94 Question Id : 3922668614 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Out of 30 consecutive integers. two integers are drawn at
random. Probability that their sum is odd.

30 3% I mgaa:}eéﬁ B0 Y Sopgen dre)DdgonT
@dﬂ;z&m‘gm. &3 BOG) 00Pge I0HO 233 ©09g ST 008§

§58%) 0.
1
1. e
15
221
2. —
870
15
3. —
20
45
4, —
174
Options :
1. %1
2.% 2
3.¥3
4. % 4

Question Number : 95 Question Id : 3922668615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If A=(asin®+bcosb, 0), B=(0.acos6—Dbsmnb )
and AB = 5 units. then a” + b* =
A=(asmb+Dbcosb, 0). B=(0.acost—Dbsinb )
58050 AB = 5 d5adé eomis a’ + b’ =

I, 25
2. 16
G 9
4. 4
Options :

1.v 1
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2. %2
3.% 3
4, % 4

Question Number : 96 Question Id : 3922668616 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If a <0 and b> 0, then identify the statement which is NOT

IRUE
a <0 500 b> 0 wans (08 >SS 3SEn T (SIS
KoBOtSoS.

1. (-a.b) €Q,
2. (a-b) €Q;
(—a.—a) € Q
4. (b, b) €Q;

fad

Options :
1. % 1
2. % 2
3.%3
4.9 4

Question Number : 97 Question Id : 3922668617 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Area of thombus whose vertices are (-4, 3). (2. 9) (8. 3) and
(2. =3) respectively is (in sq. units)

s (4. 3). (2.9) (8. 3) :0aso (2. -3) Borenr Ko

DDSSEE FTe50 (5.007098")

L. 72
2. 36
3 18
4. 9

Options :
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1.v¥1
2. % 2
3.% 3
4. % 4

Question Number : 98 Question Id : 3922668618 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the portion of a straight line intercepted between the co-ordinate
axes 1s divided by the pomt (1. 3) in the ratio 3 : 4. then the
product of the intercepts made by this line on the axes 1s

2.5 TP X.Y o050 p0&0oi Hothhos ooty Dgepos erKsns, (1, 3)

DOLHY 3:4 INARS® TN &3 T oD To ©0EY DO ©20

[ ]

12
1. —
49
1
2 —
4
49
E =
A4
49
& o
12
Options :
1. %1
2.% 2
3.¥3
4. % 4

Question Number : 99 Question Id : 3922668619 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Two sides of triangle are 40m and 24m. Its perimeter is 96m.
The area of triangle is (in sq m)

- L@Eﬁ}mﬁ C?iJJB’EF B ghesren 40 . $H8d%0 245 & i'.ijé.;g
Eerd5 96 2. e3 @?ﬁ.‘)ﬁé’ﬁ"’ﬂéﬁ (3.5.08%

1. 384
2. 236
3. 196
4. 194

Options :

1.v1

2. %2

3.%3

4. % 4

Question Number : 100 Question Id : 3922668620 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The area of the triangle formed by co-ordinate axes and
Sx—2y=a(a>0)is 6. The value ofa=

DETIE egrod’ Sx-2y =a (a>0) &° 25)&
(CEEARE Eﬁ"’tﬂgﬂ 6 eowS a=

1. 442
2. 2430
430
4. 2421

Options :
1. % 1
2.2
3.% 3
4. % 4

fad

Question Number : 101 Question Id : 3922668621 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Correct Marks : 0.5 Wrong Marks : 0
- 2 2 4 :
Center of the ellipse 9 x“ + 16y —36 x+32y—-92=0

9 x %+ 16y — 36 x + 32y — 92 = 0 52500 5003
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1. (2,:1)
o A
- W
% e2-D
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The centre and radius of circle represented by

2 2
x +y —2x—8y—8=0mre

X +y —2x -8y~ 8= 03 1003 3y Lol

SH8ain Jﬂéb‘}%ﬂm ST

1. (-1,-4), 3
2. (1.4).3
3. G144, 5
4. 1,4, 5
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Angle between the lines 2x+y+6=0and y—3x=41s

2x+y+6=0.y—3x=4en 5D03 Bpo J¢s§ §'e20

(M )
L
2 -
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L
3 —
3
L
4, =
4
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cos B
—tan 6 =

1—sinB
L. cos 0
2. sin B
3 tan 6
4. sec 6
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cot’ © — cosec’® + cot” 0 + cosec’ =
1.

2. 0

3. —1
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A chord of circle of radius 2 \E cm 1s making an angle 60° at
the centre then the length of chord in centimeters.

24/320.20 F§E0 SDRS S)H0S” 2.8 a5 oo 5¢ 60°
£%00 W0H. ©onS e &g FE&H Do..eos

1. 243
2. 3
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tanA+tanb [ A+B
Ina AABC. if =1 then sin =

cot A+ cot B 2

1
5
2 V3
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k2

] 1
lies between — and —
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2 2
. 1
4. lies between — and
2 2
tan A +tan B , A:+B'
AABCS® =1 eso1S sin =
cor A+ cot B 2
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In a right angle triangle ABC. ZC=90°

If BC + CA =23cm and BC — CA = 7cm then
sinA + cosB

ABC 2% o0o28%n (@gbzo Z(C=90° BC + CA =23 20.2»
38050 BC — CA = 720.% sons sinA + cosB

23
| —
17
7
2. -
23
7
3. g
I3
30
4. e
17
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If sec55° x cos (90° — y) = 1. 0° < y < 90° then the
angle y 1s

sec55° x €0s (90° —y) =1, 0° <y < 90° esowS &0 ¥

1 85°
2. 53"
3. 45°
4.  35°
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If the ratio of the height of a tower and the length of its

shadow is \/5 - 1 then the angle of elevation of the sun rays
with the ground at the time.

28 038 @Y I Hodh T Ao DY 5 11
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n
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n
2. —
3
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3. —
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If 1.1 =1; 13 then angle B 1s

I.T) =1 I3 eson:s 80 B
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2 60°
3 22 1
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5cosB8+3smO=4 thenthe valueof 5smm6—-3cos 6

5cos0+3smB=4 eons 5sin0—3cos O Jens
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If a=21i—j+kandb=31+4j—k. thenaxb=
a=2i—jJ+kSdssswb=31+4j-k esowsaxb=

1
2;
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If the vectors i1 — 37 + Sk and 21 — &) — k are perpendicular to
each other, then A =

M —3)+ 5k, 20— ) —k en 959150 002 28%e0 sonsS A =

-3
1. —.3
2
3
2 =
2
=5
< —.1
2
5
4, —,-1
2
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A vector in the direction of vector a = 1 — 2j that has magnitude

7 units

2OF a=1—2] OIS 7 oHrdey BOIE0 Ko 2.8 DOF
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If y=x*+tanvtheny' =

If y=x*+ tanxeons y' =

L.
2

(b

4.

Options :
1.¥1
2.% 2
3. % 3
4. % 4

4 x° +sec’x
3 x? +sec?x
4 x7 + tan’y

- 2
3 x* — tan’y
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Which mathematician said that the history of mathematics
supplies human roots to the subject?

L.
2.
3.

4.

"R WO, A3arlE Srdy Soreresn e@odnod.”

Swetz
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1. _‘Aﬁég
2 O
3. T°DHS
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The mathematician who stated that “Mathematics 1s the
science which draws necessary conclusions”.

1. Euclid

2. Locke

3 Aristotle

4. Benjamin Peirce

B DEHTTOD &0 JPT0 A3 o
DRYS ABST(DE

1, asord &
Lo |

2 ersS

3. @5%‘;&55

4 BoRse @5‘3
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Which of the following related to the nature of mathematics

a. Simplicity

b. Logic

c. Concreteness

d. Discipline

R3S “n’ﬁﬁ&?ﬁ“ﬁ% DOON @oFnen
a. el ﬁnsz,m‘.ieﬁ

b. o8 53050

o mg@nsm

d. l@‘éﬁ:%‘ﬁﬁ
G,

1. T
2 c,d a
A b4
4. d.a.b

Options :
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2. %2
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According to Aryabhatta. what is the value of “n”

&55525% “" DeVFE enenn. 0 BESHT DD,

1. 3.1461
2; 3.1416
o 3.4116
4. 3.1614
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“Every even natural number grater than two can be expressed
as the sum of two prime numbers”. Who said it?

1.
2
3.
4.
“Bo

SO TPALRe0” 8l BOAHEIS TRIS,

Pythagoras
Euclid
Goldbach
Bacon
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The date on which India launched a satellite in the name of
Arvyabhatta as a mark of honour to him.
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(S ]

4.

Options :
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18.03.1974
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20.05.1976
21.06.1977
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Options :

Pythagoras proved that in all kinds of closed figures of the
same circumference it has much larger area.

L
2,
3.

4

Triangle
Rectangle
Square

Circle
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Choose correct answer regarding Greeks contribution towards

mathematics

a. Greeks applied rationalism for mathematics
b. Arthemetic is their number system

C. Lagistica is their calculating system

d. Greeks developed Triangular numbers

(en K3@rdd TS Do KH00D HBS DIEes0 KHY0S0s.

-
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Which of the following guide education?

1. Aims

2. Goals

A Objectives

4. Specifications

2363553 mgcﬁd‘e}aﬁo el

1. éﬁ%‘sm
[}

2 ﬁa&:ném

3. OF°(e

4 mﬁjg}gtﬁmw
Options :
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The fourth objective from the bottom in the psychomotor
domain 18

1. Articulation

2. Sensitivity

Imuitation

fad

4, Manipulation
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4. PR R0
Options :
1. % 1
2.% 2
3.% 3
4.¥ 4

Question Number : 131 Question Id : 3922668651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

Arrange the following objectives in a sequence from top in the
cognitive domain

a.

€;

C.

Knowledge

Understanding

Application

b.
d.
i

Synthesis
Analysis

Evaluation

DTS BoroS'd OFFR SEBE0 P Hod
= [ ) £

a.

C.

-2 =

Lad

4.

Options :

1% 1
2. %2
3. %3
4.¥ 4
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From which one of the following values. the student acquires

punctuality. courage and confidence?

L.
2.
3.

4.

308 FAS" D e oI IR VibbIToT, PO,

Aesthetic
Cultural
Moral

Discipline

S DTV ) DOTOTE?
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Options :
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Which one of the following does not belong to the
characteristic of a good text book?

1. Organization of the content
Z: Text book price

3. Contents of the text book
4, Language used in the book
€955 ﬁﬁ;@gﬁ ©5r0 570

1. :T.‘PWESO%‘ K}qsﬁ;’r“ra
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“All the concepts of a topic are fully taught in a class™. This
belongs to which organisation principle?

1. Topical

2. Spiral

3. Concentric
4, Logic
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O SR ER0E E0He0 KT HFD?

1.  38%
ok
2. ﬁ&oje.;
3. DESo(&
4. @5&_5
Options :
1.¥ 1
2.% 2
3.% 3
4. % 4

Question Number : 135 Question Id : 3922668655 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

Identify the odd principle for Organising the curriculum

L.
2.
3

4.

Correlation
Difficulty
Activity Based
Flexibility
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The method of arranging mathematical concepts in such a way
that they are continual

1.
5

5
=,

4.
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Psychological

ETo(&

Question Number : 137 Question Id : 3922668657 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

This 1s not a characteristic of Inductive method.

| 3 Logical

i1 Brief

3 Psychological

4. It 1s based on observation and thoughts
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L o950
2. H0ZHPoI
el

3. DI JpALI0

4.  H08o3, a8 S50 arrndod.
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 138 Question Id : 3922668658 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

The method suitable to teach the law = 5™
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Through this method. the student gets the feeling of *T found”™

L Project
2. Heuristic
3. Analytic

4. Synthetic
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By using this method the students know the procedure of
solving a problem

L. Synthetic

2 Deductive

3. Analytic

4. Inductive
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Name the plan prepared by the teacher at the beginning of the
academic year

1. unit plan
2 lesson plan
3. year plan

4. period plan
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4. 28650& BEXo
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Identify the Herbartion step through which a student derives
the definitions and formulae of a concept.

L.
2.
3

4.

Recapitulation
Association
Presentation

Generalization
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Identify specifications of the Mathematical objective - aptitude
from the following

da.

e

C.
d.
3

a.

b.
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4.

Options :
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Making Mathematical models
Suggest simple solutions for mathematics problems
Propose new methods

Making mathematical puzzles
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Which i1s not related to culminating activity in the design of
the lesson plan?

1.
2.
3.

4
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Presentation

Assignments
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This material is suitable for memorization and recognition of
Mathematical concepts

L Flash card
2 Geo board
E Grid paper
4. Peg board
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The highest level of abstraction in the Edgar Dale’s cone of

eXperience.

) Contrived experiences
2. Field Trips

3. Visual Symbols

4, Verbal Symbols
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Identify the uses of drill in Mathematics

a.
b.

C.

Strengthens the concepts and relations
Inculcates regular work habits

Stabilizes subject mater in the pupils
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4.

Options :
1. % 1
2.% 2
3.%3
4. 4

BPHTD, HOROTOMD ITGY DS)S” JEH0
E}métgm %550 e‘.ﬁ‘;a“).tfaoc;ﬂ BB

e3P ENGE T

Ao 2 csﬁmﬁadoess P AD 00,
a.b

b.c

Cc.a

" 1 U

GET IT ON
Google Play

Question Number : 148 Question Id : 3922668668 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Identify the institutional arrangements to be made for gifted

children

a. Uniform Ability grouping

b. Participation in Mathematic talent tests
ol Making teaching Assistants
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I.Q of a slow learner

L.
2.
3.

4.
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Which precautions are to be taken by the teacher in oral work?

d.

b.

C.

d.

Adequate writing work should be done along with oral
work.

Should be used to save the tumne

Should be used according to the students level of
knowledge

Use difficult language in oral work
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Which of the following causes balance between speed and
accuracy in mathematical calculations

1. Diversity

2 Skll

3. Cooperation
4. Capacity
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This technique inculcates the habit of self study among the

students

1. Drill work

2, Assignments
3 Oral work

4, Written work
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Precautions to be taken in drill work are

a.
b.

C:

d.

Student should not be overburdened

Drilling work should be given on lessons that are not
taught

Once the accuracy is achieved then speed can be
obtained

The assignments give in the drilling work should not be
same
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a.
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d.
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2.
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The palindromic numbers belong to the
mathematical aesthetic structure

L
2
3.

4.

Symmetry
Sequence
Order
Pattern
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This 1is not an example of order

1. Triangle. Quadrilateral. ...

2. 3. 579 .
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1. Mathematics teacher
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The type of evaluation used to measure the weaknesses of the

student

1. Summative
2 Prognostic
3. Formative
4. Diagnostic
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“Fill in the blank™ type questions test the
the students

I Retention
2 Memory
3. Expression
4, Drawing
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A process that favours continuous comprehensive evaluation 1s

i Test

2. Evaluation

3 Assessment
4, Measurement
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The evaluation tool frequently used in formative evaluation 1s
1. Oral test

2. Written test

2 Practical

4, Rating Scale
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